
Radiation/Matter 
e.m. interactions

Heavy Charged Particles
Electrons and positrons

Photons



HEAVY CHARGED PARTICLES



Rutherford scattering
http://www.roma1.infn.it/people/longo/fnsn/capitolo4.pdf



Rutherford scattering
• Projectile with velocity v 

and Q=ze on atomic 
electron 

• Calculate in the 
projectile rest frame 
considering as negligible:
– The Speed of electrons
– The Loss of energy from 

projectile

Transferred energy



Underlying hypothesis
• Dp<<p

• For a 100 MeV proton b=0.41, z=1 

Δp
p
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p
<<1⇒ b >> 30 fm



Numerical example I
• K=100 MeV protons

• Assuming b~1Å  =105 fm

p = 2MK ~ 430MeV ⇒ β =
p
E
= 0.41;γ =1.1

pt =
e2

4πε0
1
bv

=
1
137

1
0.41b

[NU]

pt =
c

137*0.41*105 fm
=

200MeVfm
137*0.41*105 fm

~ 30eV

Et =
pt
2

2m
~10−3eV

The transferred 
momentum is really 
small because MeV 
ß>fm

Too low to ionize à for 
I~10eV Et>I à b<0.01 Å



Numerical example II
• K=300 MeV/u carbons

• Assuming b~1Å  =105 fm

p = 2MK ~ 9011MeV ⇒ β =
p
E
= 0.61;γ =1.3

pt =
Ze2

4πε0
1
bv

=
6
137

1
0.61b

[NU]

pt =
6c

137*0.61*105 fm
=

1200MeVfm
137*0.61*105 fm

~121eV

Et =
pt
2

2m
~10−2eV

The transferred 
momentum is really 
small because MeV 
ß>fm

Too low to ionize à for 
I~10eV Et>I à b<0.04 Å



Distant and close collisions
è Need to consider in LET only the 
collisions that are close enough to ionize

2I=



LET
• Linear Energy Transfer: mean energy released 

by ionization to the matter à note: dE/dX is 
the energy lost by the radiation > energy 
transferred locally

• Integrate between
– Emin corresponding to bM needed to allow for 

transition time < T è bM/v=1/n=h/I
Emin=I2/2mg2b2

– Emax corresponding to max transferrable energy in 
elastic scattering

Vf(e)=2vi



Bethe Bloch

re=aħ/mc
I=10Z (eV) à empirical mean Ionization Energy 

Examples of 
how to read 
this plot



Rappresentiamo la perdita di energia in funzione dell’energia della 
particella:

presenta un minimo, detto minimo di ionizzazione, 
e poi risale lentamente fino a raggiungere una 
saturazione

1) A basse energie domina il termine 1/β2

2) Minimo di Ionizzazione: 2-3 m0c2

3) Risalita relativistica

1)

2)

3)

Il numero di coppie create per unità di lunghezza di percorso è proporzionale
alla frazione dE/dx d’energia persa dalla particella. Quest’ultima aumenta man
mano che l’energia della particella diminuisce passando per un massimo alla
fine del percorso.
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1/b2 regime
Achieved for K<0.4M
• 200 keV electrons
• 370 MeV/u hadrons



Range

• Range in the path of a particle 
before stopping

R = dK
−LET (K )K

0

∫
R*



LET vs Range
• From the previous relationship

• 1/b2 does not hold indefinitely

L*
R*=425cm (water)

Energy loss in extended energy range

Kmin=5 MeV/u 

è

LETmax(keV/µm)= 0.12 z2/0.0050.82

= 9.3 z2



Exercises (Set 1)
• Graph the range in water vs energy 

for
– Protons
– Alpha (He-4 nuclei)
– Carbon nuclei

• Fixing the entrance energy to the 
one required to have R=20cm, graph 
the LET in water vs x in 1mm steps



Numerical examples

DNA size ~2nm, Ionization ~50 eV è 25 
eV/nm required to break DNA twice



Proton therapy: 
effectiveness d~40eV/LET 

distance 
between 
ionizations 



Carbon therapy



Multiple scattering
• Particles can also scatter on nuclei:

– No energy loss
– Angular deviation

• When traversing a thick material 
multiple scatterings occur



Multiple scattering 
dispersion

Incident radiation 
gets scattered by 
interaction with 
nuclei
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αem

me

NA = avogadro
x: spessore materiale
attraversato



R

X0 for 
selected 
materials



Hadrontherapy: 
straggling

• Limit to narrowness of bragg peak

!



ELECTRONS



Interazione delle particelle cariche 
leggere 

Col termine particelle
cariche leggere
intendiamo gli
elettroni (e- ed β-) ed
i positroni (e+ ed β+).

Per le particelle cariche leggere, gli effetti relativistici non
possono essere trascurati, avendo queste una massa a riposo
molto più piccola delle rispettive particelle cariche pesanti.

Le particelle cariche leggere sono soggette non solo alla collisione con gli elettroni
atomici del mezzo in cui interagiscono, ma subiscono anche un secondo tipo di
meccanismo di perdita di energia dovuto alla interazione coi nuclei atomici. Questo
secondo tipo di interazione, importante per energie elevate dell’elettrone incidente, è
detta perdita di energia per irraggiamento.



Perdita di energia per ionizzazione

La perdita di energia per unità di percorso è più fluttuante che nel caso delle 
particelle pesanti; la lunghezza della traiettoria subisce quindi una dispersione 
statistica più importante. 

La formula Bethe e Bloch è data per due domini di energia dell’elettrone incidente:
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Nel caso non relativistico il potere di
rallentamento decresce in funzione
dell’energia E dell’elettrone come
avveniva per le particelle cariche
pesanti, mentre nel caso relativistico
il potere di rallentamento cresce
lentamente con ln E.



This plot is valid for electrons
In the case of protons the 
Brehmsstrahlung curve would be six orders 
of magnitude below 
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Energy release electrons



Brehmsstrahlung
Per grandi energie, gli elettroni possono subire grandi perdite di energia passando nelle vicinanze di un nucleo
pesante; qui gli elettroni deviano dalla loro traiettoria incidente; tale cambiamento di direzione equivale ad una
accelerazione, rilasciando una certa quantità della loro energia sotto forma di radiazione elettromagnetica.
L’emissione di fotoni attraverso questo processo è chiamato irraggiamento da frenamento o
bremsstrahlung.



Brehmsstrahlung cont.



Brehmsstrahlung III
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This plot is valid for electrons
In the case of protons the 
Brehmsstrahlung curve would be six orders 
of magnitude below 
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EX[keV]



Application: radiography
Typical electron energy Ee=50-100 keV
è maximum X-ray energy ~Ee

How does an 
X-ray tube 
work



Diffusion and range
• Projected range is shorter than 

CSDA (linear) range

http://www.nist.gov/pml/data/star/index.cfm



Stopping power and 
range tables

http://www.nist.gov/pml/data/star/index.cfm

electrons



• Determine the energy that  a proton and an alpha must have to 
have a negligible multiple scattering 

<q> ≤0.01rad
In case of 

– 20 cm of water 
– 20cm of air 

• Estimated CSDA and projected range in water for:
– alpha particles of T=1,10 and 100 MeV
– Protons of T=1,10,100 MeV
– Electrons of 1,9,20 MeV

• Estimate the thickness of 
- Carbon
– Lead
needed to stop 1,10,100 MeV alpha and protons

Exercises (Set 2)
In case of composite materials

wj=fraction by weight



Shiedings
Range(mm) WATER(proj/

CSDA)
CARBON 
(Proj.)

IRON (Proj.) LEAD (Proj.)

P(1MeV) 24/24 10^-3 12 10^-3 6.6 10^-3 9.1 10^-3
P(10MeV) 1.2/1.2 0.61 0.26 0.30
P(100MeV) 77/77 38 14.5 14
a(1 MeV) 5.9/5.7 10^-3 2.6 10^-3 1.7 10^-3 2.2 10^-3
a(10 MeV) 112/112 10^-3 58 10^-3 26 10^-3 37 10^-3
a(100 MeV) 6.4/6.4 3.2 1.3 1.4
e(1 MeV) ~4.0/4.4
e (9 MeV) ~40/45
e(20 MeV) ~91/93

è Utilizzo di particelle alpha per terapia
radiometabolica



Application: XRF
• X-ray fluorescence (XRF) spectrometry is an elemental

analysis technique with broad application in science and 
industry.

• XRF is routinely used for the simultaneous determination of 
elemental composition and film thickness.

• Modern XRF instruments are capable of analyzing solid, 
liquid, and thin-film samples for both major and trace (ppm-
level) components.

• The analysis is rapid and usually sample preparation is
minimal or not required at all.



XRF Setup
1) X-ray irradiates specimen

2) Specimen emits
characteristic X-rays

3) Analyzing crystal rotates to 
accurately reflect each
wavelength and satisfy Bragg’s
Law nl=2dsinq

4) Detector measures position 
and intensity of XRF peaks

5) XRF is diffracted by a crystal
at different . To separate X-ray
l and to identify elements





Choice of the anode



Detection system
• No matter how the secondary X-ray

radiation (X-Ray fluorescence) is
produced in XRF machines there are 
TWO WAYS to detect this radiation:
1. Wavelength Dispersive System (WDS)
2. EnergyDispersive System (EDS).



WDS
• A wavelength dispersive 

detection system physically
separates the X-Rays
according to their
wavelengths.

• The x-rays are directed to a 
crystal, which diffracts
(according to Bragg´s Law) the 
X-Rays in different directions
according to their wavelengths
(energies).



EDS
• EDS is an analytical technique used for the elemental

analysis orchemical characterization of a sample.

• The secondary x-rays (XRF) are directed to a detector.

• A detector is used to convert X-ray energy into voltage
signals; this information is sent to a pulse processor, which
measures the energy of the signals and passes them onto an 
analyzer.

• The analyzer converts the analog into a digital signal which
is proportional to the energy of the incoming pulse.

• Received pulses are actually amplified and converted into
digital signals.

• They are sorted by energy with help of multi-channel
analyzer and sent to data display and analysis.

• The most common detector now is Si(Li) detector cooled to 
cryogenic temperatures with liquid nitrogen.





Forensic: gunshot powder
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Adhesive (chromium) and gunpowder (Barium)



XRF advantages
• XRF is a versatile, rapid technique .

• It is non destructive method of chemical analysis. Important as in
• case of samples in limited amounts, or valuable or irreplaceable.

• It is precise and with skilled operations it is accurate.
.
• Applicable to a wide variety of samples from powders to liquids.

• It is convenient and economical to use.
.
• With the major input cost being the hardware itself, which

averages around $75,000 for a modern industrial-use spectrometer
or $125,000 for a research-quality instrument.

• The instruments have few moving parts, tend to be low-
maintenance, and on a regular basis consume only liquid nitrogen and 
electricity





Positron annihilation
A high energy positron will lose energy
by collision and radiation  è

only 20% probability of 
annihilation in flight

e+e- à gg (free electron)
e+e- Nà gN (bound electron ~20%)

After it stops, positron binds with 
electrons è positronium

Para S=0  t=125 ps CP=+ à gg
Orto S=1  t=140 ns  CP=- à ggg





PET: spatial resolution
• The range of positrons is the main 

limiting factor to the resolution in 
PET



Escapes
If positron is create one or both the 
electrons can escape.



Interazione della radiazione 
elettromagnetica 

I fotoni nell’attraversare un mezzo assorbente possono interagire sia con 
gli elettroni degli atomi sia con il nucleo atomico:

Interazione con gli elettroni:
Diffusione Compton
Diffusione Rayleigh
Effetto fotoelettrico

Interazione col nucleo:
Reazioni fotonucleari
Produzione di coppie



A differenza delle particelle cariche i fotoni interagiscono con la materia 
in modo discontinuo e la loro intensità non viene mai ridotta a zero.

xeIxI µ-= 0)(
dove μ è detto coefficiente di attenuazione (o di assorbimento) e 
dipende sia dall’energia del fotone sia dalle caratteristiche del 
mezzo attraversato. 

La lunghezza di attenuazione λ è definita come l’inverso del 
coefficiente di attenuazione µ:
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Indichiamo con σ la sezione d’urto che esprimeremo in cm2:

σ =
µ
nA

=
µ

ρ /mA

≅
µA

ρ[g / cm3]NA

rappresenta la probabilità che una data collisione tra due 
particelle avvenga. Essa ha le dimensioni di una superficie e spesso 
viene misurata in barn (1 barn = 10-24 cm2).



Effetto fotoelettrico

Interazione di un fotone con un elettrone atomico.

Durante l’interazione il fotone cede tutta la sua energia all’elettrone.

be EhE -=- n L’effetto fotoelettrico è un effetto a
soglia, potendosi verificare solo quando
l’energia del fotone incidente è superiore
all’energia di legame dell’elettrone.

La sezione d’urto per effetto fotoelettrico, che indicheremo con σfoto risulta:
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Effetto Compton 

Interazione di un fotone con un elettrone “libero”

La differenza di energia tra fotone incidente e fotone diffuso sarà impartita all’elettrone sotto forma di energia cinetica.

A differenza dell’effetto fotoelettrico
il fotone non cede tutta la sua energia in
una sola interazione, ma rilascia solo
una frazione della propria energia
deviando rispetto alla direzione
incidente.
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La sezione d’urto per l’effetto Compton (nella trattazione non relativistica) risulta:
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Per la conservazione dell’energia abbiamo:
'' ee EEEE +=+ gg



Calcoliamo la perdita di energia del fotone incidente in funzione dell’angolo di diffusione.

Per la conservazione della quantità di moto abbiamo:
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Sia γ il fotone (di frequenza ν) incidente su 
un elettrone a riposo
Sia γ’ il fotone diffuso (di frequenza ν’)
Sia e’ l’elettrone dopo l’urto
Indichiamo θ l’angolo di diffusione

qnnnn cos'2' 22
2
' c

h
c
h

c
h

c
hpe -÷

ø
ö

ç
è
æ+÷

ø
ö

ç
è
æ=Quindi



Combinando le 2 equazioni si ottiene: qnnnnnn
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C =l è detta lunghezza d’onda
Compton dell’elettrone e
vale 2.426 10-12 m.

La conoscenza della lunghezza d’onda λ del fotone incidente (e quindi la sua 
energia E=hν) e l’angolo di diffusione θ permettono di calcolare il valore 
dell’energia cinetica impressa all’elettrone:
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•Per θ=0° l’energia trasferita è nulla, e quindi l’energia 
del fotone è conservata.
•Per θ=180° il fotone è rimbalzato all’indietro ed 
l’energia trasferita è massimale e vale . 
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Photon 
attenuation
• Typically 

reported in 
terms of the 
mass attenuation 
coefficient

σ
NA

A
=
µ
ρ
[g / cm2 ]

CARBON

DATABASE:
http://physics.nist.gov/PhysRefData/Xcom/html/xcom1.html



Produzione di coppie 

Un fotone si materializza creando una 
coppia elettrone-positrone:

Tale processo può verificarsi solo se il
fotone possiede un’energia maggiore della
somma delle masse delle due particelle
prodotte; ossia deve avere un’energia Eγ ≥
1.022 MeV

L’eccesso di energia del fotone incidente verrà trasformato in 
energia cinetica del positrone e dell’elettrone:
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Attenuazione dei fotoni

Il coefficiente di attenuazione 
totale μtot, è la somma dei 
coefficienti dei tre processi 
considerati, e cioè:

ppComptonfototot µµµµ ++=

Il numero di fotoni diffusi o
assorbiti in uno spessore dx é
proporzionale al flusso di fotoni
incidenti Φ(x) e alla probabilità
totale d’interazione µtot:

dxxxd tot ××=- µff )()(

Dopo aver attraversato uno spessore x, l’intensità del fascio é:

xtotex ×-×= µff )0()(
Esempio: γ del 208Tl (2.61 MeV).
Nel piombo µtot= 0.477 1/cm quindi λ
= 2.1 cm



Relative importance of 
processes



Photons LET
Build-up/Skin-Sparing effect

LE
T 
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.u

.)

X(mm)
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Databases with mass 
attenuation coefficients

• http://physics.nist.gov/PhysRefData/
XrayMassCoef/tab3.html

• http://www.wolframalpha.com/input/
?i=mass+attenuation+coefficient+lead
+140+keV+photon

http://physics.nist.gov/PhysRefData/XrayMassCoef/tab3.html


Exercise Nr. 3
Estimate the amount of 

– Lead
– plastic (Poly(methyl methacrylate-PMMA, 

C5O2H8, r=1.2 g/cm3),
– paraffin (C31H64, r=0.9 g/cm3)
– iron 

needed to attenuate by 10-4 photons of
-100 keV
– 1 MeV
– 10 MeV


